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Komplexní čísla 

 
1)Vypočítejte absolutní hodnotu komplexního čísla: 
    a) 1 2a i= − +  

    b) 
9 3

4 2
b i= −  

    c) (0, 4)c =  

    d) (8, 3)d = −  

 
2) Je dáno : 

                 

3 2
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5 6

a i

b i

c i

= − +
=
= −

 

    Vypočítejte: 

     a) s a b c= − +  

     b) t a b= +  

     c) u a b c= − + +  

     d) v a b c= − −  
     
3)Vypočítejte: 

   a) ( 5 2 )( 3 )i i− + −  

   b) (4 )(4 )i i− +  

   c) (6 )(7 )i i+ −  

   d) (8 3)(8 3)i i− +  

   e) ( )( )2 5 2 5i i+ −  

 
4)Vypočítejte: 

  a) 20 7 136 5i i i− + −  

  b) 33 47 1513 7 8i i i− +  

  c) 57 183 1

4 2
i i i− +  

  d) 63 223 7

5 10
i i+  

 
5)Vypočítejte 
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 Řešení 

1a) 5  

1b) 
117

16
 

1c)4 

1d) 73  

 

2a) 2 8i−  

2b) 3 2i− +  
2c) 8 

2d) -8                                                                                              5a) 
13

5

i+
 

3a) 6 15i+                                                                                       5b) 
1 30

17

i−
 

3b) 17                                                                                               5c) 
16 7

10

i− +
 

3c) 43 i+                                                                                         5d) 
9 5

106

i− +
 

3d) 67                                                                                               5e) 
18 71

29

i− +
 

3e) 9 
 

4a) 6 6i− −                         

4b) 12i  

4c) 
1 7

2 4
i+                     4d) 

7 3

10 5
i

− −  
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